(8

SV TIL

=S )

Model A-3-44 Towbar
lllustrated Parts List

SETTLES PRECISION MFG. INC.
RT. 1BOX 24 CUTHBERT, GA. 31740

PHONE 912-732-3731
FAX 912-732-3733



SETTLES

A-3-44 TOWBAR PARTS LIST DESCRIPTION

A-3-44-1 HEAD BLOCK MFG. BY SETTLES

A-3-44-2 SHEAR PIN PLATE _|MFG. BY SETTLES

A-3-44-3 HANDLE MFG. BY SETTLES

A-3-44-4 LATCH MFG. BY SETTLES

A-3-44-5 SPRING ASSY. MFG. BY SETTLES

A-3-44-6 SHOULDERBOLT _ |3/8" DIA. X 1/2" LONG SHOULDER BOLT
A-3-44-7 SHEARPIN MFG. BY SETTLES

A-3-44-8 WASHER 5/8" STANDARD FLAT WASHER

A-3-44-9 COTTERPIN 1/8" DIA x 1 1/2 LONG

A-3-44-10 PIVOT PIN MFG. BY SETTLES

A-3-44-11 WASHER 7/8" STANDARD FLAT WASHER

A-3-44-12 SHAFT MFG. BY SETTLES

A-3-44-13 RETAINER RING REIN LEITZKE PN 68-13 (3/8" DIA.)
A-3-44-14 BOLT 1/2 - 13 N.C. x 4" LONG GRADE 5 HEX HEAD BOLT
A-3-44-15 WASHER 1/2" STANDARD FLAT WASHER

A-3-44-16 LOCK NUT 1/2 - 13 N.C. HEX LOCK NUT

A-3-44-17 BAR ASSY. MFG. BY SETTLES

A-3-44-18 GEAR ASSY MFG. BY SETTLES

A-3-44-19 TIRE 4.10 - BNHS (4 PLY RATING) GOODYEAR 220101-GRJ-3BNC
A-3-44-20 TUBE 410/350 - 6 RUBBER MASTER PRODUCTS
A-3-44-21 WHEEL SAGINAW P/N 5-6416-M HUB & WHEEL ASSY. OR
A-3-44-22 HUB HADCO P/N 390 HUB & P/N 909 WHEEL
A-3-44-23L GEAR RETURN ASSY|MFG, BY SETTLES

A-3-44-23R GEAR RETURN ASSY|MFG. BY SETTLES

A-3-44-24 CYLINDER ENERPAC MODEL RC-106

A-3-44-25 PROTECTIVE COVER|MFG. BY SETTLES

A-3-44-26 HOSE 3/8" HYDRAULIC HOSE & FITTINGS AS REQUIRED.
A-3-44-27 PUMP ENERPAC MODEL P-51

A-3-44-28 LUG 3/8 - 24 LUG TYPE NUT




A-3-44 HEAD ( TOWBAR )

P/N

QTY.

A-3-44-1
A-3-44-2
A-3-44-3
A-3-44-4
A-3-44-5
A-3-44-6
A-3-44-7
A-3-44-8
A-3-44-9
A-3-44-10
A-3-44-11
A-3-44-12
A-3-44-13
A-3-44-14
A-3-44-15
A-3-44-16

A-3-44-14 BOLT  A-3-44-4 LATCH

A-3-44-15 WASHER

A-3-44-5 SPRING ASSY

A-3-44-16 LOCK NUT

A-3-44-6 SHOULDER BOLT

/
VERNMNNNSTTANN

G D WM b et e PN = od e ed ok —a ) —

A-3-44-9 COTTER PIN

A-3-44-11 WASHER A-3-44-8 WASHER (SHEAR PIN)

A-3-44-10 PIVOT PIN

A-3-44-7 SHEAR PIN

£l A-3-44-2 SHEAR PIN PLATE

SETTLES PRECISION MFG. INC.
RT. 1 BOX 24 CUTHBERT, GA. 31740

PHONE 912-732-3731
FAX 912-732-3733

A-3-44-12 SHAFT
A-3-44-13 RETAINER RING

A-3-44-1 BLOCK

A-3-44-3 HANDLE




A-3-44 BAR

A-3-44-25 PROTECTIVE COVER

A-3-44-24 CYLINDER

+| A-3-44-26 HOSE

A-3-44-27 PUMP

P/N QTY. fr———TJ

A-3-44-17 |1 ] " L

A-3-44-18 |1 ( '=_I_"L \ _ : ¥ .

A-3-44-19 |2 UU

A-3-44-20 |2 0

A-3-44-21 |2

A-3-44-22 |2

A-3-44-23L |1 7344231 A-3-44-17 BAR ASSY.

A-3-44-23R |1 A-3-44-23R

A-3-44-24 |1 GEAR RETURN

A-3-44-25 |1 AsSy [ A-3-44-18 GEAR ASSY. A-3-44-19 TIRE

A-3-44-26 |1 A-3-44-20 TUBE

A-3-44-27 |1 A-3-44-21 WHEEL]

A-3-44-28 |0 A-3-44-22 HUB
A-3-44-28 LUG

SETTLES PRECISION

MFG. INC.

RT. 1 BOX 24 CUTHBERT, GA. 31740

PHONE 912-732-3731
FAX 912-732-3733




